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The following 7 (Seven) items consist of two

statements,

Statement I and Statement IT

Examine these two statements carefully and

select the correct
given below :

Code :

answer using the code

(a) DBoth the statements arc individually
true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually
true but Statement II is NOT the
correct explanation of Statement I

(c) Statement I is true but Statement II

is false

(d) Statement I is false but Statement II

1S true

1. Statement I :

Statement 1T :

2. Statement I :

Statement II :

3. Statement I :

Plantation farming has
mostly been practiced in
humid tropics

The soil of humid tropics
is highly fertile

Chameleon changes its
skin colour to match with
the colour of the
surroundings

The skin of chameleon
emits light of the colour
of the surrounding through
fluorescence

Occasionally we see two
rainbows together, the
primary rainbow with
another less intense
secondary rainbow about
10 degrees away

Statement 11 :

4. Statement I :

Statement II :

5. _ Statement 1 :

Statement II :

6. Statement I :

Statement 1T :

The secondary rainbow
appears due to refraction
after a reflection of
sunlight from the water
droplets

Nationalism in India, which
was assigned a privileged
position by its western
educated political leader-
ship, was a ‘different’, but
a ‘derivative discourse’
from the west

Indian nationalism as a
response  to  western
imperialism was ‘like all
such responses, shaped by
what it was responding
to’

The British legal scholars
relied on Indian Pandits and
Maulavis for understanding
of canons of authoritative
texts

British codified the Hindu
Laws in 1783 and the
Muslim Laws in 1785

Dadabhai Naoroji argued
that what was being
drained out was ‘potential
surplus’ that could generate
more economic develop-
ment in India if invested
in India

Imperialists believed that
India was brought info the
large  capitalist world
market and that was in
itself a progress towards
modernization
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: 9 SR STERRISAT IREhR <h
31a forert 3IST erEe SRy S
ST Y EHEET el © |

: AT WTEST THISReNid o AT
F AT g RIS
RERR 1 2016 & 99T §
Ffeq waT-wifeea & fom
Teh EHR & ®Y ¥ faekfia
feran s e |

ST I

. WETHET Iosdell AT & @R/ fofaiaa
R =0 ) o = B = A

(a) FE THh HHS-HeA TS0 8 off
BPL @Rl &1 LPG e[ Saeed
FRAH & foru @

(b) =@ TS A ad 2015 H amw R

AT AT 3

(c) T AT & 3 TEHR 3 5 He
LPG FraM &1 weg fooa foam 2

(d) 3T FISTT T IL9A IS T E=3 567
Il AT HIGAT3A TS sTedl b
e 1 GRET FEAT ©

. IR WAEIVT fWRT & 250 o ATitehleare o
foefafaa 7 & g d9ida &t gesma &
TS ? ;

- (a) wfFT =\
(b) Testidm
(c) S

(d) ==
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10.

1l

12:

13.

U eI TR R fRd T
FETAR TAETT gadhish 2016 H, freferfad
H ¥ forg QY T ST WSE S S gST fedT
T ?

(a) SFTHTER
(b) e
() feresmede
(d)

e HechaT SR, fermrefl Tegfa w wfea

ferar T A ?

(a) T WA GHR AT
(b) TRETeT HHfd

(c) et Eferf

d) gaww afafa

HRA o e | el sres form danem
SRI ST T 4@t ?

(a) <cgat Gemed

(b) & WAL

(c) Tormmaat wsmeq

(d) fr=mEar e

AR & I=dqq AT 1?'r-, frfafea d &

forer Uep =g # fore =wf & s SR s

g5 e =t B

(a) . TH. THEEC STH € ATE S

(b) =T el =A™ IfEa 3w g
(9 &)

(c) wg forad s g Hid

(d) T fie sAW W AT g



7. Statement I : The Man Booker Inter-

national Prize 158 now
unlikely to be won by an
English author

Statement II : The Booker Prize Founda-
tion announced that the
Man Ranker International
Prize was to evolve from
2016 onwards into a prize
for fiction in translation

. Which one of the following statements
about Pradhan Mantri Ujjwala Yojana is
NOT correct ?

(a) It is a social welfare scheme to
provide LPG connections in BPL
households

(b) The scheme was launched in the
year 2015

(c) The Government has set a target of
5 crores LPG connections under the
Yojana

(d) The objective of the scheme is to
safeguard the health of women

and children by providing them
with clean cooking fuel

. Which one of the following portals was
launched on the 250th anniversary of
Survey of India ?

(a) ServicePlus
(b) DigiMap
(¢) Udaan

(d) Nakshc

10.

1t

12.

13.

Which one of the following countries has
been 1auked as the least corrupt country
in the Corruption Perception Index 2016
released by Transparency International ?

(a) Denmark
(b) Sweden
(c) Switzerland

(d) Norway

The Central Vigilance Commission was
set up on the recommendation of

(a) First Administrative Reforms Com-
mission

(b) Gorwala Committee
(¢) Kiripalani Committee

(d) Santhanam Committee

The Ninth Schedule was added to the
Constitution of India by the

(a) Fourteenth Amendment
(b) First Amendment
(c) Ninety-Third Amendment

(d) Ninety-Ninth Amendment

Which one of the following cases in the
Supreme Court of India dealt with the
issue of ‘creamy layer’ among the
backward classes ? ;

(a) K M Nanavati vs. State of Bombay
(b) Indra Sawhney vs. Union of India
(¢) Madhu Limaye vs. Ved Murti

(d) Sajjan Singh vs. State of Punjab

A - U-GIA-JBOS



14.

15.

16.

forem fis & aR # Ffofag 5 8 9 a7
FIT WEl TEl © ?

(a) = 1942 ®, foFg A G Ffame @
e HEIET J90T (ST SHeR) TR
TERd B & foru Tt fomam

(b) SETERAT ATE T WER Tod o
s o @y ST & forg, SRR @
yferffére femar

(c) Fg & uvarq faem 7 Siftrfae gt

veTferd feram

(d) g & 9T e = wfgem -
T &1 w57 wearfae forem

TSI ehi |iYr & R | Fafafag & 2
HIF AT FHIF TEr qEL T ?

(a) T WA 1765 ¥, BEER food &

(b) T THE 7 Teh A &+ TRT S
fean St ot =T, Toer stk s
1 Q! g &9 # sred

(c) 50 9@ €A & I U FTH THF
FaTe <t wfter ez

(d) SFRE TIT ATEATE T IATHT 3@
3TETT Y QTS T 11 oht &g fezm

frrferfam = & @t &, wieh-gfla wwsia

6T JUSH TR AT 7

(a) TETT 3T IEIAT o GH TSR
Hfeal Y TR TTh HLl

(b) R o foriia =601 1 9T R F forw
HE 1931 & @Al & @2 2 H
"STRETUT qAT RENAET Sl TRATIT
fepam
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17.

18.

19.

(c) T TE I Tt W Bl == W STeq
ST <t =T

(d) srifye =t & ferg 18 witsra wet =
3TRETOT

FAT-Hieed At & a5 2017 & oo
ﬁmﬁf@amﬁﬁﬁ%&wﬁg&m
IRERR ST 7

(a) T Mesfth

(b) 3 § WTZE &t hefetic &l

(c) 3 favremsr

(d) T HEITEE WS

Freforfe 3 & o, i A e
ISR & IR /ToRet € ?

(a) FEIIA Tl

(b) feseyct

(c) XTSI TSTHE G&Ar 37

(d) R IFa 1 3 99

US Tsgafad 7 2017 & w0d 85 & T
SR T4 & US i amat & fou w
gfsmEr smewr R wEER R @
fefofea & & s W w ~Ra
HIfS

(a) ufRr-Sfafees geaife Hrermem

(APEQ)
(b) gra feafhes urdaefam (TPP)

(c) I ¢8 Whde 3w fo ufimn Sfafes
(FTAAP)

(d) roerer iR it TR
(RCEP)



14.

15.

16.

Which one of the following statements
aboul Cripps Mission is NOT correet ?

(a) In March 1942, Cripps persuaded
War Cabinet to agree to a draft
declaration

(b) Jawaharlal Nehru and Sardar Patel
- represented Congress to negotiate
with the mission

(¢) The mission offered Dominion
status after the war

(d) The mission offered formation of
constitution making body after the
war

Which one of the following statements
about the Treaty of Allahabad is NOT
correct ?

(a) It was signed in the year 1765

(b) The Mughal Emperor by a farman
formally granted the Diwani of
Bengal, Bihar and Orissa to the
East India Company

(c) Awadh was restored to its Nawab
on payment of Rs. 50 Lakhs

(d) Banaras and the Surrounding tracts
were detached from Awadh and
handed over to Shah Alam II

Which among the following was NOT
the provision of the Gandhi-Irwin pact ?

(a) Immediate release of all political
prisoners of the Civil Disobedience
Movement

(b) Clause 2 of the March 1931 pact
defined ‘reservations and safe-
guards’ to cover financial credit of
India

172

18.

19.

(¢) The return of confiscated land

alrcady sold to third parties
(d) Reservation of 18 per cent seats

for Depressed classes

Which one of the following novels won .
the Pulitzer Prize for the year 2017 in
the Fiction category ?

(a) The Goldfinch
(b) All the Light We Cannot See
(¢) The Sympathizer

(d) The Underground Railroad

Which one of the following does NOT
pass through the Kaziranga National
Park ?

(a) The Brahmaputra river
(b) The Diphlu river
(¢) National Highway No. 37

(d) Railway track of Indian Railway

The US President in 2017 has signed an
executive order for US withdrawal from
a trade organization of the Pacific
region. Identify the organization from
among the following :

(a) Asia-Pacific Economic Cooperation
(APEC)

(b) Trans-Pacific Partnership (TPP)

(c) Free-Trade Agreement of the Asia-
Pacific (FTAAP)

(d) Regional Comprehensive Economic
Partnership (RCEP)
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20.

211

22,

23.

frfafaa sfufaial 4 @ fog = 3 72
=Y R e fF AR & d@faum &
T 111 & ot AT SUaer § HNe e bt
HTE UTh TEE hl TEl © ?

(a) HYATAE ARAT S €2 3ATF he

(b) E A1 FAM V2 AF IS

(c) TIFH TR W e 3ATF A
(d) Toat foew fafiee s9m wra =R

frre=fafaa St # @ oF, oo e dwas
T IFFIROT W G © ?

(a) . . FAAE
(b) SIYHTI TIIIT
(c) =™ M5 e
(d) feeien wa

frafafaa 5 @ o, 9ra & d@faam &
ST 263 F I SFR-Ta IRWG
TITIAT &R o oIy |qareh & 7

(a) WG

(b) wmieg

(c) R T rsgafal

(d) WG <1 qeA =
frfafaa & & 3 &, Jee fdfz &
FET T At ?

(a) =rfafEe et

(b) o et wee

(o) UHIHS 9T A e

(d) FEh AR

U-GIA-JBOS - A

24.

25.

26.

1859 & it fogie & R # fffaa 7 9

| GT HYFT Gl © ?

(a) & TAT 3R SEAGTR # & T

(b) T HIEHRI Aeilcizy o foeg wTfor
o7 : '

(c) =TSt o SfgsTiferat = 5 srgran feam =
(d) TE B THERT q9T SR T 5
9 SHHATAT o foeg g=Tfera o
TR ¥ SEYFAT BT IHAH A & forg
1823 ¥ @R gr1 fwfafad & & =i

/8 Gfha wew IIET T4 /I T

/9 ?

1. Tavi fegan @t firféra e 3k 9aeh
S AT TR A B WA |

2. 3EIACT Tl FAT & TR H 0T
&1 farfera e & vamw |

3. ‘vt & fou A & gRi
FAYEh QT |

4. FEgeEar s fafifaeg @it o< o
T ST T TR T ATHHHT ST |

A fod T Fe W YA R el SRR

HE |

(a) oA

(b) 1 3R 2

(¢) 2,3 3R 4

(d) e 4

fretferfad # & 1 w1 T et 1960 61 g
S G & Tefe Wt et ® 2

() T

(b) TS

(c) e

(d) =™




20.

21.

22.

23.

Which one of the following judgments
declared that the Parliament has NO
power to amend any of the provisions of
Part III of the Constitution of India ?

(a) Kesavananda Bharati vs. State of
Kerala

(b) Golak Nath vs. State of Punjab

(c) Champakam Dorairajan vs. State of
Madras

(d) Minerva Mills Ltd. vs. Government
of India

Who among the following leaders is
associated with the concept of party less
democracy ?

(a) J B Kripalani

(b) Jayprakash Narayan

(¢) Acharya Narendra Dev

(d) Vinoba Bhave

Who among the following is empowered

to establish Inter State Council under
Article 263 of the Constitution of India ?

(a) Parliament

(b) Council of Ministers

(c) President of India

(d) Chief Justice of India

Which among the following was NOT

the recommendation of the Nehru
Report ?

(a) Dominion Status
(b) Separate Electorate
(¢) Unitary and Democratic Centre

(d) Adult Suffrage

24.

25.

26.

Which one of the following statements
about the Indigo Revolt of 1859 is
correct ?

(a) It broke out at
Ahmadnagar

Poona and

(b) It was directed against moneylenders

(¢) It was supported by the intelligentsia
of Bengal

(d) It was directed against the petty
Zamindars and ex-employees of the
planters

Which of the following active step(s)
was/were taken by the Congress in 1823
to eradicate untouchability from India ?

1. Effort to educate and mobilize
opinion among caste Hindus

2. Efforts to educate the ‘avarnas’
about the evils of untouchability

3. Forcibly open the doors of temples
for ‘avarnas’

4. Petition the Government to pass
laws that would declare untouch-
ability unlawful

Select the correct answer using the code
given below :

(a) 1 only

(b) 1 and 2
(c) 2,3 and 4
(d) 4 only

Which one of the following is NOT a
river covered under the Indus Water
Treaty 1960 ?

(a) Rawvi
(b) Chenab
(c) Teesta
(d) Beas

A - U-GIA-JBOS



27. a9 2017 & forw 7t wifceht # were sihy

28.

29.

30.

uzw frafafaa # @ e wem forar
e

(a) TEIFA Sseg BIfeRT 3R TSR AR
(b) AATeE AR, foha wEr. i 3R L arEE

(c) SU® Ulefaehl, Trgg TWIER 31K

= oha Rt B B |

(d) . TEchel hIEefeiest, Sohel BlesH 3R

Sfee S, g
a9 2017 & foru frfeafag atast 4 @
S TEs e foRar a2
(a) ST TH AL
(b) EE A
(c) TH. 3R, sitfam 9¢q
(d) Trgq Arzed
frrefafee femt § @ e, 9Ra &
afaam & ‘WeRied S & ®9 A
sraeia forar © 2

(a) TH. &Y. I

(b) <. 3. g

(c) Al atee

(d) I AT

frafafaa & @ =\ @r/8 w99 9l
g/8 7

1. RS o GEAEH 1 =g 15 9Rd
& ArTceRt qun feefimy, S
ST ¢ |
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2. 9RA & WL F Fge0E 16 Had
HRA o TEIRT o I 2 |

3. VT o HFET 1 370G 21 WRT
oS W, WA o AN adl
ferefimt, et & e 'Y @ Iua
2 |

T & @ g w1 9Em W OERl SR
9

(a) Fad 1

(b) FaT 2 3K 3

(c) &3

@ 1,2 33

XA & G965 ees 14 & HHE
gor-ufasstiua fofer & awer gwar an

ferferat & v w=eor & o, feefofaa &
¥ fora /e wme &1 wehd © °

1. 9RA H @ aTe O ARAE AT
call

2. TGt % TEw arel |l ARG AT
T

3, YRA & IO & 3R B A
ferefsmt =t

4. WRT H S WHT FANTRERT bl

B = B Tl 1 < 21 ) B T < o <
i

(a) a1 3R 2

(b) 1,2 3R 3

(c) haal 1 3R 3

(d 4



27.

28.

29.

30.

Who among the following are awarded
willt (e Special Bieakthiough Prize in
Fundamental Physics for the year 2017 ?

(a) Stephen W Hawking and Roger
Penrose

(b) Ronald Drever, Kip S Thorne and
Ramer Weiss

(c) Joseph Polchinski, Andrew
Strominger and Cumrun Vafa

(d) J Michael Kosterlitz, Duncan
Haldane and David J Thouless

Who among the following Mathematician
is the recipient of the Abel Prize for the
year 2017 ?

(a) John F Nash

(b) Yves Meyer

(c) SR Srinivasa Varadhan

(d) Andrew Wiles

Who among the following scholars has

conceptualized the Constitution of India
as a ‘seamless web’ ?

(a) MV Pylee
(b) ‘DD Basu
(c) Granville Austin

(d) Subhash Kashyap

Which of the following statements is/are
correct ?

1. Article 15 of the Constitution of
India is available to both citizens of
India and the foreigners ;

11

31.

2. Article 16 of the Constitution of
India i3 available to the citizens of
India only

3. Article 21 of the Constitution of
India is available to both citizens of
India and the foreigners alike within
the territory of India

given below :

Select the correct answer using the code

(a) 1 only
(b) 2 and 3 only
(c) 3 only

(d 1, 2 and 3

Who among the following are entitled to
get the benefits of equality before the
law and the equal protection of the laws
as enshrined under Article 14 of the
Constitution of India ?

1. All Indian citizens living in India

2. All Indian citizens living abroad

3. Foreigners living within the territory
of India

4. All citizens born in India

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b)) 1, 2 and'3
(¢) 1 and 3 only

(d) 4

A — U-GIA-JBOS



32.

1835 < st faerm srffem & am #

 Tetcifed & & i &1 %97 |el et @ 2

33.

34.

‘(a) T HAHG H TAE W TER SR

fafermw Sfee ery weanfera ferar an
o7

=R RIS S AR e o
fareror <1 sy ==T@T

fSremr 6 W & ®Y A ST &
IR TR & €19 8l
AR fRrem | ek 7E feor 6t sraean
JAR B T |

e v wewEl & fog, fermfat
ST 72 RIS AT W= F= T
ST WRT, STRI T@T ST 9T
frr=fafea & @ fom woEet 3 fasmrr
ST & ARSI o ef e fopar 7
(a) &, ¥qF, g9 a9 IRAEG

(b) W, TG, SRI(AG AT JIA

(c) TIEE, Ted, IRk 99T &M

(d) AR & a1qa, BEEw, qq9 99
srfeg

sitafrafires srferaeen & aR # fFrafafea

T H i AT HAT gel e g ?

(a) fofesr it wisent & ot Oofame &
3TERIE 3T

(b) STSTEET & S8 YSATE Y Alha 9 A
seran e

(c) YA TR H ‘I aHfeH THIHR
(ZeTEe FHelfFed wiAmet)” a= aed
T 9T FATfR 3¢ S <@l

(d) W & fmin @ vga S & diad
e H WA AT ST AT

(b)

(c)

)
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35. gEXA R & aR # frafafaa & @

36.

I | /¥ HIT TEl 7 /T ?

|. 9 ANMdE § SWHI Tw A,
SUFATHERR TAT ST TETeh AT & |

2. ITh HEATHS ITATE ‘%:[-a fErs
wiw & forg 9w aw 2015 &1 feg
YREFR ATH T3 |

3. ‘zed ¢ RER &’ qrm UdTeHT Sera
Y Ueh YOI AT |

A G T FE w1 OWER o TRl ST
7

(a) ad 1

(b) Fael2 3R 3

(c) %ae 1 3R 3

@ 1.2 3iw3

Sy aRadd fawee afe wwetdar &

IR # fr=ferfaa st & & @9 a1 w8

TR T ?

(a) 3T TH= W 190 | ftrs e A
TeaTeR fha € (A 2017 i feurfa)

U THHAAT 4 T 2016 1 TAE |
3T

snrfe aedi Terifia siegm (Zevee
Aymet feefife wrdisgam, INDC),
5@ 2015 & siqamg afads g e o
s foham s o, &t | et
# yeateRa foam

USA T =19 gt afke au=tar |
IEERY

(b)

(c)

(d)
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33.

34.

Which one of the following statements
about the English Education Act of 1835
is NOT correct ? _

(a) It was proposed by Governor
General William Bentinck on the
advice of Macaulay

(b) It made English the language of

instruction in Indian cducation

system

With the formal institutionalization of
English as the language of instruc-
tion, the stage was set for a new
direction to Indian education

(©)

(d) To the existing Oriental Institutions
fresh awards of stipends to students
and the publication of classical texts

were to continue

Which one of the following dynasties
ruled under the suzerainty of Kingdom of
Vijayanagar ?

(a) Sangamas, Saluvas, Tuluvas and
Aravidus

(b) Sangamas, Hoysalas, Aravidus and
Tuluvas

(c) Hoysalas, Saluvas, Poligars and
Sangamas

(d) Yadavas of Devagiri, Hoysalas,

Saluvas and Aravidus

Which one of the following statements
about the Colonial economy is NOT
correct ?

(a) The British presence
indigenous capitalism

(b) Laissez-faire actively promoted
indigenous capitalism

inhibited

(¢) The ‘white collective monopoly’
came earliest and remained most
pronounced in Eastern India

(d) The Bombay hinterland was difficult

to penetrate before the construction

of railways
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35.

36.

Which of the following statement(s)
about Casterine Kire is/are correct ?

1. Born in Nagaland, she is a poet,
novelist and children’s book writer

2. She is the recipient of the Hindu
Prize for the year 2015 for her
poetic novel ‘When the River
Sleeps’

3. ‘When the River Sleeps’ was an
exploration of the Naga spirit
universe

Select the correct answer using the code
given below :
(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only
(d 1,2 and 3
Which of the following statements about

the Paris Agreement on Climate Change
is NOT correct ?

(a) The agreement has been signed by
more. than 190 countries (as of
March 2017)

(b) The agreement went into effect on
4 November 2016

(c) The Intended Nationally Determined
Contribution (INDC) pledged during
the 2015 Climate Change Confer-
ence has been withdrawn in the
Paris Agreement

(d) Both USA and China joined the
Parie Agreement

A — U-GIA-JBOS
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39.

e TR & forg fomet fhem #, It
afie % fom 64 3 T e wEER

(2017)  FHS STTHAAT JRERR o foq FoT

T 7

(a) Hfth o
(b) ¥TH YT
(c) T&H
@) R

HRd & dfHEE & Susel & §R H,
frforfaa # & o9 @1 Faw @@l g ?

(a) SroqaEdsh-aF Al ' v firem
LE] U 2 B e 1 = N o
() R Hehd &

ATTIE 30 & AL had HITE,
FodE 3R enfifer soumEEeRl
Soi@ ot T ©

Yol e e T e o o
AT o forT Heamit ot wTaeT R
- 3R ST FREMT A T S
sfrar ®

feret entfifer sremieaes =t grr Tfua
g frer wedm TeeRR | ot weman
UTH B 9 30T AeTaeds oot @l

ol €

(b)

(©)

GV

Frefafe gm /gt & @ aF @ /& 98
gafaa 2 /8 ?
1. AFH F : e & 96 foel
fom @ spret = & for
T feram S
Hehell @
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40.

41.

2. I Adald :

A1 &1 I HA h
& foIQ M sTem
3, dE@ed  : foxiE ad & R

e @ @ ge w1 R R g8 S
i+

(a) e 1
b) 13K 2
(c) 28R 3
(d) ST H | =18 TR

af 2016 1 TEHERS Wieh TRERR
frrforfaa # & o ww gam © 2

(a) <. fasamme
(b) ufyr FR

(c) TeX

(@ TS FHR

frfofea & & formeh grr, wRa & fero
Tchedl ATH T2 T 9g Fiora fehar @ ?

(a) fowefica e 1861

(b) WRT THR rferfad (g TEeHe 3H
e V) 1858

(¢) Hﬁﬁ?ﬁﬂw

(d) W SRS IR
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39.

Akshay Kumar was chosen for the best
actor award for the 64th National Film
Awards (2017) for his role in the Hindi
film

(a) Mukti Bhawan

Moom Shabana

(b)

Rustom

(©)

d) Airlift

Which one of the following statements
about the provisions of the Constitution
of India is correct ?

(a) Minorities can establish and
administer educational institutions of
their choice

(b) Only linguistic, ethnic and religious
minorities find mention under
Article 30

(c) Every religious denomination has
unfettered right to establish and
maintain institutions for religious and

charitable purposes

An educational institution established
by a religious minority loses its
minority status on receiving financial
aid from the Government

@

Which of the following pair(s) is/are
correctly matched ?

1. Rule of lapse : Part of grant that
can be carried over
t0 next year

15

40.

41.

2. Supplementary : An advance grant to

grant meet expenditures
3. Vote on : Additional funds
account granted in the

course of financial
year

Select the correct answer using the code
given below :

(a) 1 only
(b) 1 and 2
(¢) 2 and 3

(d) None of the above

Who among the following has won the
Dadasaheb Phalke award for the year
2016 ?

(a) K Viswanath
(b) Shashi Kapoor
Gulzar

(©)

(d) . Manoj Kumar

Which one of the following had created
the office of the Secretary of State for
India ?

(a) The Councils Act 1861
(b) The Government of India Act 1858
(c) The Morley Minto Reforms

(d) Montague Chelmsford reforms

A - U-GIA-JBOS
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g 1w e 1A gate Af sk
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Dt 3, § T¢I e
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L A
Ase BB - G m D
() Sl ke A
Gl AGhgineo
(€ 2 e
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H@Eﬂ?ﬂﬁ‘m:

Al L A
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44.

45.

%e :
AZ ¢ Bk (CANED
) P
() s DEE i S
(el s aiiae
() S s I )
“rEe R &1 e ok wR waffae sfua

&y @ famfafag ® o foaw safifea @ 2
1. e fagg & < ar siftes Tsal & ==
AT T & TATAT o TR | ¢ |

2. % USHEA] Sl R W@ gu favg-sardt
TS GEHT & TS | AW hl
wishar © | :

3. a8 RN hl FATET e ATl AR
SfEdt & &R H TSaEEEar & W
e @t ffqse wxan © |

4, TR AR (YURES) ATEA 3
srTeRTEt gfee wfufed @ |

G B o B 1 A ol Y = M Tl M 18

3

(a) a1 3R 4

(b) FAT 2 3R 3

(c) Ha92,3 3K 4

(d 1,2, 334

s 2017 & e TAERE GRERR
(Teete UamEed Uesl) & ©: faorarsi |
O s, Feafafm A @ s 2 2

(a) STGe 9T

(b) TGN T

(¢) Vel HIHTAT
(d) Frexeld g
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Match List I with List II and select the
correct answer using the code given
below the Lists :

List 1 List 11
(Author) - (Book)
A. Herman Kulke 1. The Delhi
Sultanate :
B. Brajadulal A Political and
Chattopadhyaya  Military History

2. The Emergence of
Delhi Sultanate :
AD 1192-1296

C. Peter Jackson

D. Sunil Kumar
3. The State in India :

1000-1700
4. The Making of
Early Medieval :
India
Code :
AR 1D
() 1 3
(b)Eee3 4 1 2
()2 4 1 3

@F B3

Match List T with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Official) (Office held)
A. Samahartri 1. Chief of the

! : Palace Guards
B. Samnidhatri

2. Chief collector

C. Sansthadhyaksha of revenue

D. Antaravamshika

LI

. Treasurer

4. Superintendent
of markels

17

44.

45.

Code :
7 I Gl )
(a)r 2 - 3 1
(by 2 3 -4 1
(@) 3 4 2
()=l 4 3 2

Which of the following most suitably
captures the meaning and essence of
‘globalization” ?

1. It is about conducting external
relations. between two or more
States of the world

2. It is a process of coming together
of world-wide social relations
bypassing territories

3. It refers to thinking transterritorially
about global risks affecting people

4. It has a wishful vision of suprastate
governance

Select the correct answer using the code
given below :

(a)
(b) 2 and 3 only
(¢) 2, 3 and 4 only

(d)

1 and 4 only

1, 2, 3 and 4

Who among the following is one of the
six winners of the Goldman Environ-
mental Prize, for the year 2017 ?

(a) Jadav Payeng
(b)
(c)
(@)

Anadish Pal
Prafulla Samantra

Sunderlal Bahuguna

A - U-GIA-JBOS
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9gH #1 el geaas ferafeau faema 8 2
(a) JIUESRR

(b) e fawst

(c) STTEE Adh

(d) =T FER (He srder)

|G H Sfofe o TR Bi o farfirer ==oti
TET argehw, frimferfaa ® & i o @
1. &I57e it wEgfa

2. fawmie wfafoat gro s=

3, focita fa8ges &1 uria ST

4. fafermmr fagme =1 aria g

T RE W wE w1 W W g o
iﬁ'{a:

(@) =2 =d:—=23

)} =3y

() o YilrNase

(Y AL = 2 o ol

frferfaa # @ fora T Tog 6 @R 3
e -Tog HHH] % AT & oIy TSR
afufa 61 fgfs i g ?

(a) STTE WG THR

(b) FHieh WHR

(c) HERTSE AR

(d) TierTg TWHR

frrmfeiaa & & 1T @1, &% SR (1948)
T Sty AT ?

(a) AT SROTHT BT AT AT
(b) e TR ST o6 3T T 7 GRS
AT R R HaT ST TehdT ©

(¢) F%-Tsd HeItll T I AT
(d) T UKIETT AT TR T HewE TR
3 ® siafa ferar s Hepan @
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50.

SE

52.

155 3 3 o feeforfaa ool 3§ & &t &

Teh Hel gHfed wEt § 7

(a) @ : 3, e E s e
5T N H STEr o

(b) #@om  : faEE TsusE

(c) M fergm qun anfifer safer @t
sraifed gfa

(d) SRR : [OECR! &l 9% 999 &
uas | fean @ TS e
3TTeA

frfafag et & @ g v & ueet

His[q "l Hews (g 31meh) 91 T © ?

(a) 3GTE fem 1 HiueT

(b) FeAT-FeT-ZEATH HIBTC
(c) T SIetslel el Hehadl

(d) 3TATE GRATS

frrfofaa & & #19 a1 waw 981 78 & ?
(a) S TS STeATIeld Raersil &1 Uk Hit

AT

fagdin g & ade o
(afit) 1 7 vt < e of £

o 3 feRet i sifereRrt & @, Sae
499 @ Al R FR A T B

ST & o, gaaer 7 &R

3R il AT -3- 30K & HigHe
o Qe & s7efie TR Wome <
HHUTGI HT AV &

AT Al gfer IR # ferenif
1 HehT Aifceehl (T fReR) & &R
H JeohE el AT B

(b)

(c)

(d)
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47.

48.

49.

Padma Shri Sudarsan Pattnaik is well
known as a

(a)
(b) golfer

novelist

(c) classical dancer

(d) sand artist

Which one of the following is the correct
sequence of different stages a budget
has to go through in the Parliament ?

1. Presentation of the Budget

2. Scrutiny by Departmental Commit-
tees

3. Passing of Finance Bill
4. Passing of Appropriation Bill

Select the correct answer using the code
given below :

@l e =
) ol A
(o2 =s1sliiia
(@

Government of which one of the
following States has appointed the
Rajamannar Committee to study the
Centre-State relations ?

(a) Government of Andhra Pradesh
(b) Government of Karnataka '
(c) Government of Maharashtra
(d) Government of Tamil Nadu

Which one of the following was the
mandate of the Dhar Commission (1948) ?

(a) To study the classification of States
(b)

To recommend whether the States
can be re-organized on linguistic
basis

(©)
(d)

To study the Centre-State relations

To examine whether Madras city
can be transferred to Andhra

19

50.

51.

S

Which one of the following pairs of term
and meaning is NOT correctly matched ?

(a) Khalisa : Villages whose income
went directly to the State

Treasury

(b) Mauza : Rebellious territory

(c) hlgln : Land allotted to learned
and religious man

(d) Jagir : Territorial assignment given

to Mansabdars in lieu of
salary

In which one of the following buildings
the first extant true arch is found ?

(a) Arhai din ka Jhonpra
(b) Quwwat ul Islam Mosque
(¢) Tomb of Sultan Balban

(d) Alai Darwaza

Which one of the following statements is
NOT correct ?

(a) Sharaf Qai was a minister of
Allauddin Khalji

(b) Under Giyasuddin Tughlug Muqtis

were warned not to ill-treat any of
their officials for small amounts
taken over and above their salaries

The Arabic work masalik-i-Absar
gives description of the functioning
of Igta system under Muhammad
bin Tughluq

(c)

Marco Polo has not mentioned
about Pearl Fishery of Tuticorin in
South India

(d)

A — U-GIA-JBOS
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33,

At [ & gAE & gafaa Hifvg sk
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(a) omfereit aerATE

(b) WSS FETehR

(c) TRaM s

(d) TH. UH. GeseieH!

o gsTR 2T 2017 & fersan fferfe
FY AR ?

(a) STRICN

(b) AT
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(@) dfierg

gt [ = 118 gafoa g sk
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(wfatfa) (fewr)
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- @

Match List I with List II and select the
correct answer using the ecnde given
below the Lists :

List I List II
(Book) (Author)
A. The World 1. APJ Abdul Kalam
As I See It
B. How to Live 2. Stephen Hawking
Longer and
Feel Better 3. Albert Einstein
C. The Theory
of Everything 4. Linus Pauling
D. Indomitable
Spirit
Code :
A B! € "'D
(@)="3 4 2 1
(b))l 2 i B
(€) 3 2 4 1
()] 4 2 3

Which one of the following countries has
officially recognized Bitcoin as a legal
payment method since lst April 2017 ?

(@)
(b)
©

Japan
China
USA
India

Consider the following passage and
identify the person :

Born in April 1932, she was a renowned
Hindustani classical vocalist. She was
recognized as an innovative exponent of
the Jaipur Gharana. She was awarded
Padma Bhushan and Padma Vibhushan.
She was also a Fellow of Sangeet Natak
Akademy. She died in April 2017

21
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(a)
(b)
(c)
(d)

Mrinalini Sarabhai
Mogubai Kurdikar
Kishori Amonkar

MS Subbulakshmi

Which one of the following ig the winner
of the Vijay Hazare Trophy 2017 ?

(a)
(b)
(c)
(d)

Uttar Pradesh

Karnataka

Assam

Tamil Nadu

Match List T with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Committee) (Subject)
A. Rangarajan 1. Tax Reform
Committee
i 2. Insurance Reform
B. Narsimhan
Committee s
3. Disinvestment of
C. Kelkar shares in PSEs
~ Committee
4, Banking Sector
D. Malhotra Reform
Committee
Code :

O A B
M) 2 Gide s
(c)S3 Al | 2

(@ g e

A — U-GIA-JBOS
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srdeere o foferfaa o 9 foe gt &
1, FiY 91 Qard foramepemy dag 8 2
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(b)

AT WA TAT FAIE
A Wi e fgdia
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61. T Tgfg =hm & IR 8 fFefafe & &

@

62.
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I @ T Fe T TEE R gEr IR
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(a) whad 1 3% 3

(b) &ad 2 3R 3

(c) 1,2 3K 3

(d) &HFe 1 3R 2
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To which of the following sectors of the
ceunomy, the activity of agriculture and
services belong to ?

(a) Primary and Tertiary respectively

(b) Primary and Secondary respec-
tively

(¢) Tertiary and Secondary respec-
tively

(d) Secondary and Quaternary respec-
tively

Which one of the following statements
about Allahabad Prashasti is correct ?

(a) It clearly presents the Gupta empire
as the epicenter of a complex web
of varied political relationships

(b)

Line 15 of it refers to the capturing
a king of the Kota family

(c) Line 23 refers to Samudragupta
violently exterminating a number of

kings of Aryavarta
(d)

Line 20 refers to rulers offering
tribute, obeying the orders of the

Gupta King

Which one of the following statements
about the Gupta period is NOT correct ?

(a) Forced labour (Vishti) became more
common than before in this period

(b)

A passage in the Vishnu Purana
refers to the Guptas enjoying all the
territories along the Ganga up to
Prayaga

(c) The Mehrauli inscription suggests
that Chandragupta fought against a
confederacy of enemies in Bengal
and also led a campaign into the

Punjab
(d)

Saurashtra was not a part of the
Gupta Empire
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Which one of the following statements
about the Sukanya Samridhi Scheme is
NOT correct ?

(a) Only parents of girls up to the age
of 10 years can open such accounts
in their daughters name

(h) Contributions are eligible for fax
benefits under Section 80C of the

Income Tax Act

(©)

Interest earned thereon is exempted
up to Rs. 1500 per annum

(d) A maximum of Rs. 1-50 lakh per
annum can be invested in this

account

Which of the following are the reforms
introduced in Budget 2017-2018 ?

1. Presentation of Budget advanced to
Ist February ‘to enable the
Ministries to operationalise all
activities from the commencement
of the financial year

2. Merger of Railway Budget with
General Budget to bring Railways
to the centre stage of Government’s
Fiscal Policy

3. Removal of plan and non-plan
classification of expenditure to
facilitate a holistic view of
allocations for  Sectors and
Ministries

Select the correct answer using the code
given below :

(@) 1 and 3 only
(b) 2 and 3 only
(c)Ml28and 3

(d) 1 and 2 only

A — U-GIA-JBOS
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‘Fierfess ufthe W 3R fora 2 & =i,
e TgTH O AV © 7

(a) =M

(b) Hifer

(c) Tooaam™

(d) e

FEH &7 T WS e a1 ffafad aerat
A, FF H EACRT G © 7

(a) TEITEH

(b) EeREI

(c) T

(d) Ueirew

frferfag gamnl (TieR) & & @iF T,
T & a1 @ ?

(a) TR

(b) =HET

(c) =1

(@) = (Jeus)

IR R AZge ¥ FGUd I 6 STHN |
frafafed # 8@ ST A M EA € ?

(a) ToAmmar I qan  arifeeaaRifaE -

(rfear-gforear) ,
(b) STfECATIRIRE 4T 5 =it fagm
(c) THATHTET AT @ = =T AW
(d) srifecaaRitas qur e

7 1984 ¥, frfafaa & & =9 @ 40 &
R & SR JHT | AR g Al ?
(a) Toramse seEEERE

(b) TFETHICT ST

(c) HTEEIHERT SEITEAEEE

(d) STEHEEEEAE
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64.

65.

66.

67.

‘Nomadic Elephant’ is a joint military
exercise between India and

(a) China
(b) Mongolia
(c) Vietnam
(d) Bhutan

Which one of the following artificial
sweeteners is modified sugar ?

(a) Aspartame

(b) Saccharin

(c) Sucralose

(d) Alitame

Which one of the following polymers is
made of protein ?

(a) Rubber

(b) Cotton

(c) Wool

(d) Jute

Which of the following diseases are
caused by the consumption of water
contaminated by mercury and nitrate ?

(a) Minamata disease and Osteoporosis

(b) Osteoporosiss and Blue Baby
Syndrome

(c) Minamata disease and Blue Baby
Syndrome

(d) Osteoporosis and Minamata disease

Leakage of which one of the following
gases had caused Bhopal Gas Tragedy in
the year 1984 ?

(a) Methyl isocyanate
(b) Hexamethylene diisocyanate
(c) Isophorone diisocyanate

(d) Isothiocyanate
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68.

69.

The difference between the compound
interest and the simple interest for
2 years on a sum of money is Rs. 60.
If the simple interest for 2 years is
Rs. 1440, what is the rate of interest ?

() 44%

b) 6+%
(c) 8%

@ 81%

A4, B, C, D, E and F compared their
marks in an examination and found that
A obtained the highest marks, B obtained
more marks than D, C obtained more
than at least two others and £ had not
obtained the lowest marks.

Consider the following statements :

Statement 1 : At least two thembers

obtained less marks than
(@

Statement 2 : £ and F obtained the
same marks

Which of the above statement(s) is/are
sufficient to identify the one with the
lowest marks ?

(a) Both 1 and 2
(b) Neither 1 nor 2
(c) 1 only

(d) 2 only

A - U-GIA-JBOS



70. 72 km<t g3 R feurq a1 formgat 4 ik B & Al AT 11

1 T Teh GE hl 37K Fafd o foIl Teh e (=reafa) (8&=)
Tog 9T fehel | UeaT =Afh 4 km Aid =T A. =% 1. ST sReRT
1 =T | Hewd 7, e GOkl Afth Ied B. i 2. wleait 92
B¢ A 2km, GAL e H 21 km TR wE # C. Trmata 3. feror srohtent
3 km Il ®, 3R S8 X8 S0 Sefdl Tl D. 9T &hell 4. seeferan
2 | g =Afh el (Freft T7597)
(a) 8% # - &Re
: A iTBu G
(b) B e 4 F s e Ghnil o g
(c) A smem B & aftres freme () L S SO e
. (c) 4 3 2 1
(d) A 3R B & s=i-s= ) L S i ey e
71.@'3[13% -{fﬂﬁﬂﬁ gﬁ"%ﬁ Eﬁ'ﬂ—,[q 3% 73. WRa & faetafad & 9 &9 @ R fod
gfEt & 99 R W g w1 own W (SITer STHATRVT ) ST ST AT{EEhTReR YHAT
& IR M - : ‘mfae § SRifaEr ® 7
= . (a) A0 TR e
(vt e (=) (b) TR AR e
e (c) U= TR R
A. Tae g 1. =T ey Qi
el SR 74, gfaal (uht) & & avfes & Fafafaa g 9
: y I 91 9 fo=mE glar @ 2
. MO T TR 3. SR el
(a) WA
CIEEL 4. T 51 ~ (b) @
= (d) R ()
A B C D 75, et Wt & weig # ffafaa ® § @
(o) et et b ) T HIF el 7et ©
DR e (a) ZEH ARG TIRART SISl
(@) s s St JUART el Bial ©
()3 ppgSaT ) (b) wfgerse digehATs HUaT Sekehl o
y IYANT el R ST ©
72.@1.3?[ ?"Eﬁll'ﬂ Eﬁ'ﬁﬁf i & (©) @ﬁwmwg}m%
giat & 49 5@ ™ % &1 wEE W (d) =zan wiifeafos et agfaat @
ATl SR FT ; SUIRT BT &
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70. Two men set out at the same time to

il

walk towards each other from points
A and B; 72 km apart. The first man
walks at the speed of 4 kmph while the
second walks 2 km in the first hour,

25] km in the second hour, 3 km in the

third hour, and so on. The two men will
meef

(a) in 8 hours

(b) mnearer to 4 than B

(c) nearer to B than 4

(d) midway between 4 and B

Match List I with List Il and select the

correct answer using the code given
below the Lists :

List I

List IT
(Hydro power (River)
project)

A. Maithon project 1. Chambal river

B. Salal project 2. Bhagirathi river

C. Rana Pratap 3. Barakar river

Sagar project
aealbr 4. Chenab river
D. Tehr project

Code :

@D R
(BIEe B et 3
© 3 s 9
(@Rl

72. Match List I with List II and select the

correct answer using the code given
helow the Lists :

27

sk

74.

7S

List 1 List II
(Vegetution) (Region)
A. Chaparrals 1. North America
B. Maquis 2. Southern Europe
C. Fynbos 3. South Africa
D. Malle scrubs 4. Australia
Code -
A B C D
()] O
(b)) =] 3 2 4
(c) 4 3 2 1
(d) DI B ]
Which one of the following tiger

reserves of India has ‘Bhoorsingh the
Barasingha’ as its official mascot ?

(a)
(b)
(©)
(d)

Nameri tiger reserve
Ranthambhore tiger reserve
Panna tiger reserve

Kanha tiger reserve

Which one of the following elements is
present in the green pigment of leaves ?

(a)
(b)
(c)
(d)

Magnesium
Iron
Calcium

Copper

Which one of the following is NOT
correct about organic farming ?

(a)

It does not use genetically modified
seeds

(b)

Synthetic pesticides or fertilizers are
not used

(c)
(d)

It uses minimal crop rotation

It uses ecologically protective prac-
tices

A — U-GIA-JBOS



76, AT 3 = <6 s AT 2 e &

T

78.

79:

I TSI SUAN T Sl © 7
(a) TTEGHIR

(b) BT

(© fesie

(@) forErmEeR

wian () femerg H T R, WIR
(Am) 3R

(@) Tt

(b) el

() fea

(@) Ut

et s 1 AT 60% e Sl € |

AT T SFET TE! S T o [oTT ZhehT
<ers &t ferart wfcrerd srern aem ?

(a) 37-5%
b) 60%
() 75%
@ 120%
3 9T A 3R B UH Rt H HAW
12 fire 3k 16 fire & W gt € | afg
ST UTEd TS 919 @il T ©, ql fohdel GAd

& oTe B Y & AT ST =fey, i gt
9 firme & W =Y ?

(@ 31 fime
(b) 4 e

(c) 41 firme
@ 42 fime

U-GIA-JBOS - A

80.

81.

82.

T a9 Jeel, Teh foaT ol 31 a1 9= i
MG IR I A | B A6 o A1G IHhT

3T T A T 3T % G ° 9 rfereh
BT | Ieeht T 3T T ST FT 2 7
(@) 9:2

(b) 11:3

(@) IR

@) 13:4

2 3% TR /HerarR & fretafaa 7
H ¥ A A1 gt gHied et § 7

(a) HEHH : YAEEANRE 95

(b) HTHCE : 3TEeTech HEENR

(c) SR . IR UL AT

(d) =E hihiE : forg HEMER

gel Il gET L8 gAfaa Hig 8k
gt & 9 @ ™ Fe FOER 9
ﬂﬁﬁ?ﬁﬁﬂ:

g AT I
(af=r) (@)
A. 5= (StEr) 1. WA
B. @t 2. gfehat
C. hIFTEE 3. SR
D. 9T 4. T2
%ha ¢
ARG WG D
()] 2 4 5)
A1 e 1l
() & 2 1
@) =TT



76.

77l

78.

79:

Which one of the following instruments
18 uscd for measuring moisture conteunt
of air ?

(a) Hydrometer
(b) Hygrometer
(c) Hypsometer

(d)

Pycnometer
\ e’ o

Bronze is an alloy of copper and

(a) mnickel

(b) iron

(c) tin

(d) aluminium

The length of a rectangle is increased by
60%. By what per cent would the width

have to be decreased to maintain the
same area ?

(@) 37:5:%

(b) 60%

() 75%

(d) 120%

Two pipes A and B can fill a tank in
12 minutes and 16 minutes respectively.
If both the pipes are opened together,
then after how much time, B should

be closed so that the tank is full in
9 minutes ?

(a) 3-2l- min
(b) 4 min
© 45 ‘min

() 42 min

29

80. One year ago, a father was four times
as Old as Lis son. Afler six years his age
exceeds twice his son’s age by 9 years.
The ratio of their present age is

(Q)RORED
Gy i1 - 3
() 12:5
(d) 13 :4

81. Which one of the following pairs of
Island and Sea/Ocean is NOT correctly
matched ?

' (a) Cyprus : Mediterranean Sea

(b) Falkland : Atlantic Ocean

(c) Chagos : North Pacific Ocean

(d) Islas Cocos : Indian Ocean

82. Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Mineral) (Mine)
A. Zinc 1. Amjhore
B. Gold 2. Sukinda
C. Chromite 3. Zawar
D. Pyrite 4. Hutti
Code :

A ABYSHES D

(&)l 2 4 3

(b)s 3 2 4 1

(C)E3 o 2 1

()] A 2 3

A — U-GIA-JBOS



83.

84.

8s.

T 2011 % FE, for agona (ufd
TSR TEN1 OR E1) ok ey H qRd H Tl
1w srERier e, fferiad o @ &
e

(a) GfTSH ST —HET TGSl — JTRIETS —
SE] 3R HIHR

(b) T VRN — WIREH SIS — SR 3R
FER — STETS

(c) SRRTEUE —UfTH STl —HER Hodl —
S SR HIHR

(d) fFaH = — STEvE —HEd Hodl —
S 3R HEHR

= B e # 57 ST aifren e 2 @ |

ZH&T FRI ©

TR T (RAETER) T TEEAS A,
@A A @ @ ?

(a) TRGISH SHHTES

(b) HERTH <T=sTHTES

(c) THEIRAH HATTES

(d) R (eeT) BTRgIeT STAETEs

U-GIA-JBOS - A
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86. forelt oYy =facma # Wierl ok =gl

87.

88.

89.

F = AN A F, A
forfrfe # 1 fier fom 7

(a) T2 “B]’:'ﬂﬁ?[
(b) HAA-HA

(©) FearE eI
(d) | TR

fret o it gwE-gEn, SeH @ F

Seafsfd B W afafia 7@t el € ?
(a) Sheel 3THT 3R siter ferfeRzom
(b) Seer SrehT ST T TRz
(c) %ﬁreﬁaaﬁzwﬁw
(d) 3T, SeT S Ay iR

2880 = Frsfore F o o S Al
e e e § @ e e 7
(@) 3
(®) 4
© 5
@ 6

ueh Ferhia ST 4X3 R 984 H S W
Tk IR e G 13Y7 9T Bt © | afg
13Y7, 112 frafora gt 8, @ (X + Y) =
T 47 BRI ?

(@) 15
(b) 12
() 11
@ 10



- 83.

84.

85.

As per Census 2011, which one of the
following is the correct descending order
of States in India in respect of sex ratio
(female per thousand of males) ?

-(a) West Bengal — Madhya Pradesh —

Uttarakhand — Jammu and Kashmir

Madhya Pradesh — West Bengal —
Jammu and Kashmir — Uttarakhand

(b)

(c) Uttarakhand — West Bengal -

Madhya Pradesh — Jammu and
Kashmir

(d) West Bengal - Uttarakhand -

Madhya Pradesh — Jammu and
Kashmir —

Liquid water is denser than ice due to
(a) higher surface tension

(b) hydrogen bonding

(c) van der Waals forces

(d) covalent bonding

Which one of the following is the
chemical name of heavy water ?

(a) Hydrogen oxide
(b) Deuterium dioxide
(¢) Deuterium oxide

(d) Heavy hydrogen oxide

31

86.

87.

88.

89.

Who among the following has coined the
term ‘Quark’, the fundamental particles
that make up protons and neutrons in an
atomic nucleus ?

(a) Richard Feynman
(b) Murray Gell-Mann

(c) Albert Einstein

(d) Niels Bohr

The mass number of an element is NOT
changed when it emits

(a) Alpha and Beta radiations only

(b) Alpha and Gamma radiations only
(c) Beta and Gamma radiations only
(d) Alpha, Beta and Gamma radiations
Which one of the following is the
smallest number by which 2880 must be

divided in order to make it a perfect
square ?

(@) 3

(b) 4
(C)S
@ o
A 3 digit number 4X3 is added to 984
to get a 4 digit number 13Y7. If 13Y7

1s divisible by 11, then what is the value
of (X+Y) ?

(a) 15
(b) 12
(c) 11
@ 10

A - U-GIA-JBOS



90.

91.

afe Tt fremeff w2 8 3R Al gk Adh
2, o Frfafaa § @ @i @ waw v
TIHAE T ?

(a) WS el e ©
(b) it ek et €
(c) ¥t Acieh fermmf €
(@) @ ferenef e €

O 2017 H, WRA | U S5-I §RT,
fermfrfaa # @ form 1 feat = wsita 7FE

| T T golt feam A ?

92.

(a) SRIIA ST TR
(b) T SR AT
(c) AT ST MG
(d) FO AR FHERT

Tt g 3 e 3 P & A

T FHI TEl a7

(a) wRa & frfew e & SRE 9gart
HETTATE! 3R JdaTE! JRA i Tl
SHier srEeq #, fHdl & wafe
Fgar s | ot F® °gTH
Hrferent g1 AT 1 SARIERR (BeF) T
ST AT, S -XTe o ST o fog
IRerE Bid &

HeTeaTe! Fae |, HN g TER
) (QTEeR) B 4t

YaaTeT SEeT H, AR STl
T 97 = et sfeR BT A1 iR
I 9T b qAE & fag '
Ieer! eid o :

(b)

(c)

(d)
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93’

94.

95.

s it <hr afig % forg, Frfafea 5
FI Gl ATEIHF ST B ?

1. ua:isﬁﬁs‘vr%ﬁ|
0. T AR =g Aed 9 |
3. 6% i GHG! TEUE |

4. ITHIHETT THGT STl (Rt qTaHT
20°C & 21°C d% &I |

F= fed A de F FAR FW TS IR
(a) Faa 1, 2 3R 4

(b) e 2 3R 4

(c) FAw 1 3R 3

(@ 1, 2,3 3R 4

i weww, Freffaa 3 & fFa o 1
FE 7

(a) fHamTT

(b) TE-ER

(c) gt

@ =gt g

amgHed # S S Safedta weed e,
Fifeh 7% | oIaT ©

(a) TRIMI-A SR qEET-B - ferferor
Ea|

(b) el TRTeTHI-B farferon =

(o) FAe EReh-B TR @

(@) frfa wxe-B fafeor ik smra
wereil- A fafereor @
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91.

92.

If all students are boys and all boys are
dancers, then which one of the following
statements is definitely true ?

(a)
(b)
(©)
(d)

All dancers are boys

All boys are students

All dancers are students

All students are dancers

In March 2017, a High Court in India
had accorded the status of living human

entities to which two of the following
rivers ?

(a)
(b)
(c)
(d)

Brahmaputra and Ganga
Ganga and Yamuna
Yamuna and Godavari

Krishna and Kaveri

Which one of the following statements
about land tenure system is NOT
correct 7

(a) During the British rule in India
three categories of land tenure
system, viz. Zamindari, Mahalwari
and Ryotwari were introduced

(b)

Under Zamindari system, land was
held by one person or at the most
by a few joint owners who were
responsible for the payment of land
revenue

Under the Mahalwari system, the
agricultural lands belonged to the
Govermnment

(c)

(d) Under Ryotwari system, the
individual holders had the permanent
rights over land and were directly
responsible for payment of land

revenue

33

03:

94.

952

(©

Which of the following are the necessary
conditions for the growth of coral reefs ?

1. Photic conditions
2. Clean and sediment free water
3. Sea salinity of 6%

4. Tropical sea water with temperature

af INOM 4~ D107
Ul v o W o1

Select the correct answer using the code
given below :

(a)

(b) 2 and 4 only

I, 2 and 4 only

1 and 3 only

@: 1,'2, 3 and 4

Which one of the following diseases is
caused by Cadmium pollution ?

(2)
(b)
(c)
(d)

Minamata
Itai-itai
Fluorosis

Blue baby syndrome

Presence of ozone in the atmosphere is
important because it absorbs

ultraviolet-A  and  ultraviolet-B

radiations

(a)

(b)
(c)
(d)

ultraviolet-B radiations only
infrared-B radiations only

outgoing ultraviolet-B radiations and
incoming ultraviolet-A radiations

A - U-GIA-JBOS



96.

97

98.

99

NPP (A2 wEal wefFefd) / (U8 metie
JeqTeadT ) el I=AdH Bl © ?

(a) SWEHiCEFE™ a9

(b) TEEH ()

() I

(d) e 3T ATSH ATt g

fepet weer STy (TRMST) = SEeh TEaTd o

eI FEehT T AETTT FIAT gl © 7
(a) WFH’W@TE}%

(b) TRt

(c) wuTRferfeht

(d) wﬁami‘t\?aﬁa?r

Teh URIET H, 25% STt M # it
7T 3R 12% ST sl gY | afs 10%
st e fawEt # oergwil g SR 292
gt gt fowat & 9w (Sl) gg, @
e B o W e A 2 2 e o e o
frefafaa & & v @ € 7

(a) 300

(b) 400

(c) 460

(d 500

A N AT F 5%, B R AT F 15% F
TWER ¢, 3R B A A & 10%, C H
AT F 20% & SR ¢ | alg C it
2,000 ¥ ®, O 4, B3R C & F
g Tt & ?

(a) 20,000 &
(b) 18,000 &
(c) 14,000@
(d) 6,000 T
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100. (G n G¥TCHS WEATSAT &1 UEA Teh

101.

102.

(gt 2, i e A0 @
(a) T EATHS Yolieh

(b) n ¥ faamz

(c) n+%é:ama1'
(d »n & Bier A TG
TEREE & & SR # frefafag 7 @
@i U HAT Tel © 7
1. T U Hel AT (A ) & @ |
2. UE TH g0 &7 © |
3. U8 S=4 dig & TH & ¢ |

4. g8 TRINN wEERaen  (URae
EEHCICH) HT TH & T |

A fed T w1 WER o EEl ST

I

(@) 1 3R 4

(b) FHaa 1 3R 2

(c) 2,3 3R 4

@ 1,2 3R 3

R & SR § fefofea & & 39 @

YT ger Tat © 7

(a) ﬁﬂﬁmﬁ(ﬁﬁéw)‘%

(b) T ¥-arfEfs 7em 8

(c) Temmem & s v (feare@a whea
Hieedw, HFF) feaem @t fossa @

(d) Tay 3R "ot Afeat fesmem # gefadt
AT ST ©



96.

\(=)
~J

98.

99:

NPP (Net Primary Productivity) is highest
for

(a) tropical forests
(b) swamps
(c)reefs

(d) woodland and shrub land

Study of a single species and the
environmental factors in its habitat is
called

(a) Genecology

(b) Synecology
(c) Autecology

(d) Ethology

In an examination, 25% of the
candidates failed in Mathematics and
12% failed in English. If 10% of the
candidates failed in both the subjects
and 292 candidates passed in both the
subjects, which one of the following is
the number of total candidates appeared
in the examination ?

(a) 300
(b) 400
(c) 460
(d) 500
5% of income of A is equal to 15% of
income of B and 10% income of B is
equal to 20% of income of C. If the

income of C is Rs. 2,000, then what is
the total income of 4, B and C ?

(a) Rs. 20,000
(b) Rs. 18,000
(¢) Rs. 14,000
@) Rs. 6,000

100. If the product of n positive numbers is

101.

102.

* unity, then their sum is

(a) a positive integer

(b) divisible by n

1
(¢) cqual to n+ -

(d) never less than n

Which of the following statements about
the Equatorial region are correct ?

1. .It is a rﬁegathermal region

2. It 1s a sclerophyll region

3. It is a region of high development
4. It 1s a region of aerial streamlets

Select the correct answer using the code
given below :

(@) 1 and 4
(b) 1 and 2 only
(c) 2,3 and 4

(d) 1582 -and "3

Which one of the following statements
about the Himalayas is NOT correct ?

(a) They are young fold mountains

(b) They have geosynclinal rocks

(c) Himalayan frontal faults (HFF)
separates Himalaya from Tibet

(d) Indus and Sutlej rivers form
antccedent drainage in [limalaya

A — U-GIA-JBOS



103.

afeq =iz & =fed gm & fou fmfafea
F Y FA T AEA TR 7
(a) wiicsient 3R HaedT e

 (b) e aTgHee | I 6wt gid

104.

105.

106.

(c) fr=er entwew # sfiaa e A &,
3R SO ETAHESE H IS 79 A1 H
arfSEreH

(@) freeadm sfiere ok SuRkERiE
FueRer & T guen (famites)
ferfa

ferdt Sttmr =1 wiikferfasia e foree

gefea g ?

(a) < o fafsrse wmeRfe am &

(b) 37 STAT % T Festial arery |

(c) Taftrm afefeafaat # foret Stamfa 6
ATty guferfa

(d) @it ST ST o | gEen! TR

TeRgTt STeflar aTaeReT # Tde TR TG
wrforEt i fore yeRr Sfecrfaa ferar strar
T 7

(a) =i

(b) ufameT (afsta)

(c) foraet stasma

(d) T

Sia-smEdd  (SEAYERF) g | FT

Sfeafed Sar & ?

(a) &M@ IR ¥ Jhg

(b) =R et i st afg

(c) SER H@eT & AIEH q, 72 T B
J7 TG <hl =Gl g3 HIAT ol HaaT

(d) feret Harelq wrem # Sfiemop it e §
ELF
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107. SISt 51 % HROT B+l ATel a1 WGuwT <6

108.

109.

IR # friefIfad 3 § I a1 697 96l © 7

(a) T T 3R S=9 dUAET 9 SHEE
HIAFETEE i THR HAT Seqa Rl ©

(b) @ e R 3= AT R AEgE
STARETEET <hl TR HTAT STl Ll &

[efl

(c) Te e Iaeie UR ehisiq HIAIES
31T =4 TATIHT UK ATE2IS SfTaTEe!

6t FER AT SAH HLAT &

(d) e T aE™ IR AR SEETEet
3R I=9 I I hTse FIAEES
T TR AT SAH HAT ©

TS FATE ST 1 FATRET X 3R ¥ gRI -1
[T 91, | 4000 A T T I | HIF AT
o e feRar g3 Wedih e QAT WAt
7 ¥ ol Ueh & 9 T AT | WeAnelt Y e T
T ATl # " 40% dlC 9T §U 3R 98 B8R
AT | BR T AL [T AT 7

@) 5009
(b) 800 @ie
(c) 1200 e
(d) 1600 e
7 FETTE S wEs & siea M e | Al

smTet 3 fomw gEmd ot e @ et S,
qr e

(a) st < 2
(b) 1-5% ST &
(c) 2%G T @

(d) 3% AT



103.

104.

105.

106.

Which one of the following is NOT a
favourable condition for occurrence of a
thunderstorm ?

Conditional and convective instability

Adequate supply of moisture in the
lower atmosphere

Advection of cold dry air in the
lower troposphere and warm moist
air in the upper troposphere

(d) A synoptic situation of low level
convergence and upper level

divergence

The ecological niche of an organism
relates to

(a)
(b)

specific habitat of the organism

symbiotic relationship with other
organisms

(c)

diverse occurrence of a species
under different conditions
with other

its interaction all

organisms

(d)

Free swimming macroscopic animals in
an aquatic environment are referred to
as

(a)
(®)
(©)
@

The term Biomagnifications is referred to
as

(a)
(b)

Plankton
Periphyton
Benthos
Nekton

increase in the body weight

uncontrolled growth of harmful
organisms

(c) accumulation of increasing amount
of non-degradable pollutant through

food chain

increase in the number of bacteria
m a culture medium

(d)

37,

107.

108.

109.

Which one of the following statements
about air pollution caused by diesel
engines is correct ?

(a) It produces large quantity of carbon
monoxide at lower and high
temperatures

(L) It produces large quanlily of nitro-
gen oxides at lower and high

temperatures

(c) It produces large quantity of carbon
monoxide at lower temperature and

nitrogen oxides at high temperature

(d) It produces large quantity of nitro-
gen oxides at lower temperature
and carbon monoxide at high

temperature

In an election which was contested by
two candidates, X and Y, 4000 votes
were polled. Suppose that every vote
was polled in favour of either of the two
candidates. Candidate ¥ got 40% of vote
polled and was defeated. What was the
margin of defeat ?

(a) 500 votes
(b) 800 votes
(c) 1200 votes

(d) 1600 votes

The average of 7 consecutive odd
numbers is M. If the next 3 odd
numbers are also included, the average

(a) remains unchanged

(b)
(c)
(d

increases by 1-5
increases by 2

incrcascs by 3
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o=t :

3T A ATel I TSI A= Al T AT W
fyfirer St /8 | ot =ul & g fe
(|t =g =t )

SR/ € A

2005-06 | 2006-07 | 2007-08 | 2008-09 | 2009-10

740 800 470 440 810

500 520 600 650 800

420 480 500 600 750

440 500 550 600 660

800 900 980 1110 1080

110.

111.

112.

2005-06 & 2009-10 Tk A &= H et |
feram wivrera afg &2 7

(@) 30%
) 40%
©) 50%
d) 60%

feu o gul @, Y0 &= | wfq a9 e
fray foraem ® (F S w4l H) ?

(a)
(b)
(c)
@

490
550
580

670

freafafeaa @ 9 e © ad & gRE, $
ferayr srfereram a1 ?

(a) 2006-07

(b) 2007-08

(c) 2008-09

(d) 2009-10
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1137

114.

115.

116.

frrerfarfaa # & i &1, a9 (0-5 ppm ¥
W) AT o FREE 9 W S &
SYEfeRTelIe SUNIT 1 HEA THE ¢ 7

(a) RId <t Tfeeht

(b) FTEA T SFIRGT

(c) Tl forpfar

(@) =i & iR g

FTATSH & SUART Ueh AUENT & &7 H
(a) ZEHT SSHT ATAhT I=A Bl ©

(b) EHT FER YOIk ¥ BT &

(¢) T T €Afica 9= Bia @
(d) T FAfs FER S T

frerfirfaa & & i T T, ST R
TR 3gEfed WEl gl & ?

(a) awEafd 3EL

(b) Terteee ggred

(c) SIg e

(d) IS smfirse

A1t wer um, ek wee 1 # 61 €,
T ST ST I STAT TAT ©

afe e T@ s & B f o fergst aren
ik A B, Al FOK o Whereh OR feregat <6l
TEAT FT BRI 7

(@ 1

(b) 13=ETS

(© 5

CRPERELS



Direction :

The next three items

are based on the

information provided below :

Investment in various industries/sectors across
five years (in Rupees Hundred Crore)

Bl 2005-06 | 2006-07 | 2007-08 | 2008-09 | 2009-10
industry/sector | =

Manufaeturing 740 £00N A7n Adn £10
Electrical 500 520 600 650 800
Services 420 480 500 600 750
Mining 440 500 550 600 660
Others 800 900 980 | 1110 | 1080
110. What is the percentage increase in

111.

112.

investment in the Electrical sector from
2005-06 to 2009-10 2

(a) 30%
(b) 40%
(c) 50%
(d) 60%
During the given years, what is the
average investment per year for the

services sector (in Rupees Hundred
Crore) ?

(a) 490

(b) 550

(c) 580

(d) 670

During which one of the following years,
was the total investment maximum ?
(a) 2006-07

(b) 2007-08

(c) 2008-09

(d) 2009-10
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113.

114.

115.

116.

Which one of the following is a major
effect of long term consumption of
drinking water containing little (less than
0-5 ppm) or no fluoride ?

()
(b)
(©)
(d)

Cavity of tooth
Erosion of nail
Deformation of bone
Mottling of tooth

Carborundum is used as an abrasive,
because it

(a)
(b)
(c)
(d)

has high thermal conductivity
has low coefficient of expansion
has high chemical stability

is extremely hard

Which one of the following is NOT
decomposed by bacterial action ?

(a)
(b)
(c)
(d)

Vegetable remains
Plastic materials
Animal carcasses

Wastes of flowers

Two positions of a dice with 1 to 6 dots
on its side are shown below :.

L)

If the dice is resting on the side with
three dots, what will be the number of
dots on the side at the top ?

(a) 1
(b) 1ors

E) &

(B2 oS
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117. Fre angfa W fimr Aifs

A E B
H H
D G cC

R & i arepfa #, W@ smad St Aw
g, & wean foraet ® 2 (feam o € 6
ABCD T = & 3R E, F, G, H 8! {13t
& wex foreg )

(a) 14

(b) 16

(c): 20

@ 21

118. ﬁn::ﬁrﬁaa e IR fa=R Fif
n = [(6374)79% (625 7(313)*]
ferforfaa & & S 91 T 3, n & S
WAWRE ?
(@ 0
(b) 1
(c) 2
@ 5

119, T 1 R LA whE AR AR
gt & 99 @ ™ g w1 owEm W

e I FHT :

ATl | A I
(qeft fER) (Ta)
A. eI . ufy=s sEre
B. Ficih 2. BiEmm
C. FATSRTS , 3. ITR T
D. AfeRi 4, FAte
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e @
A B C D
(a) 2 1 3 4
() 2 3 1 4
(€) =4 3 1 2
d 4 1 %) 2

120. = I geh 11 @ gafaa Fifg ek

ghmt & = @ ™ g F W
TEr I T :

T 1
(Tt 3T

A.TIEE

B. <RI ETC
C. del '

AT B s G R
(a)un2 1 3 4
b 2 3 1 4
(c) 4 1 3 9)
d 4 3 1 2



117. Consider the following figure : Code :

A E B A FEB STE LD
(b)) 1 3 4
H : | r () B2 3 1 4
(C)asst 3 1 2
d 4 1 3 g
D G (@) @
What is the numbler of rectangles which 120. Match List I with List IT and select the
are not squares in the above figure ? correct answer using the code given
(Given that ABCD is a square and below the Lists
E, F, G, H are mid-points of its sides)
List T
&) (National Park)
(b) 16 A. Corbett
(¢) 20 ‘ B. Neora Valley
(d) 21 C. Betla
: D. Kanha
118. Consider the following number :
n = [(6374)1793x(625)317x(313)49] List II

(Location in map)

Which one of the following is the digit at
the unit place of »n ?

(@) 0
(b) 1
() 2
@d 5

119. Match List I with List IT and select the
correct answer using the code given below

the Lists :

List I List II Code
(Bird Sanctuary) (State)
A. Sultanpur 1. West Bengal (a) l; [: j ]:
B. Kulik 2. Haryana ) 3 1 4
C. Nawabgan;j 3. Uttar Pradesh () 1 3 2
D. Attiveri 4. Karnataka : @ 4 3 | 2
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121.

122.

fraferfe saat ) fer S
1. 250 cm @ 3rferes sl ATel &
2. aftfes A 25°C - 27°C
3. 3iea ST 75% | SHfErh
4. g5 T I Rl wed

Feafy ¥ frafafeg wert & |, @9 a1
TS IIRATH I WA HAT 6 7

(a) ITRfCSEl T wETvi
(b) ToERfesEl sref waTavit
(c) SWEfesEl % Tt
(@) SoTEREe gk aEt
R & A & gee # frftad
F ¥ A A HIF GE © 7
. 9TE ST ST MexT 3R STEvs
F qrEt St §
2. &, 3 3R GAT STASATIET el °
qEt ST ©
3, TR STt A o S

4. TG SESTIAT S 3R HIHR, TAT
fearaet YR S FETE! IYEARS ©

= A W T W TN W FE TR
3fa

(a) ¥ 1 3K 3

(b) Fa 2 3R 4

(c) el 1, 2 R 4

@ 1,2, 33K 4

U-GIA-JBOS — A

42

123.

124.

1285

‘afy-aem’ (R afe ®ER) & @ed o

frfafaa sl w® ffER Sk -

. W SEEdEd & IR-wd
AEETRT & (G -Ufifhe o)
& &9 A A ST ST B

2, 7% T A AT A D

3. T8 F9ER) W (ISR) € & T
DER

= fA W Fe T TR W FE W
e

(@) had 1

(b) Faer 1 37 2

(c) a2 3R 3

@ 1,2 3R3

3 A1 Xl el FEted © ?
(a) fafFsn

(b) ST e

(c) Tewma wexr

(d) SRETE
fpfafag § & @9 a1 Th, TG SHRvit
SETIY OR 3EfEd © 7

(a) TfEOT 3TSHTeRT

(b) sigfern

(c) forel

(d) difeimn



121

122.

Consider the following statements :

1. Areas where rainfall exceeds
250 cm '

2. Annual temperature 25°C — 27°C
3. Average humidity exceeds 75%
4. Trees do not shed the leaves

To which one of the following types of
vegetation does the above represent ?

(a) Tropical wet evergreen
(b) Tropical semi evergreen
(c) Tropical moist deciduous

(d) Tropical dry evergreen

Which of the following statements
related to tribes in India are correct ?

1. Tharu tribes are found in Uttar
Pradesh and Uttarakhand

2. Irula, Chenchu and Sumali tribes
are found in Kerala

3. Garasia tribes are found in Goa

4. Gaddi tribes are nomadic herders of

Jammu & Kashmir and Himachal
Pradesh

Select the correct -answer using the code
given below :

(@) 1 and 3 only
(b) 2 and 4 only
(c) 1,2 and 4 only

@ 1,2 3and 4
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123. Consider the following statements about
‘Ring of Fire’ :

1. It 1s also known as circum-Pacific
belt of volcanoes

2. It is an active seismic zone
3. Itis a zone of divergent plate margin

Select the correct answer using the code
given below :

(a) 1 only
(b) 1 and 2 only
(¢) 2 and 3 only

@ 1,2 and 3

124. The Bum La Pass is located in
(a) Sikkim
(b) Arunachal Pradesh
(c) Himachal Pradesh

(d) Uttarakhand

125. Which one of the following is located at
the southernmost latitude ?

(a) South Africa
(b) Australia

(c) Chile

(d) Polynesia
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